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SECTION 1: GRAMMAR (10 MARKS)

TASK 1: Read the text and put the verbs in bracket in the correct form (5
marks)

Original Text: Twenty years ago most people (to start) work around the age of twenty and
retired at the age of sixty-five. In the last twenty years things (to change). Today, people often

(to work) for different employers, many (to be) self-employed and many, unfortunately, are
unemployed. Companies employ fewer people and many processes (to be computerized).

Corrected Text: Twenty years ago most people started work around the age of twenty and retired
at the age of sixty-five. In the last twenty years things have changed. Today, people often work
for different employers, many are self-employed and many, unfortunately, are unemployed. Companies
employ fewer people and many processes are computerized.

TASK 2: Fill in the blanks to complete these sentences by choosing the
appropriate word in bracket (2.5 marks)

1. They started the business four years ago after they had finished college.

2. He has been wanting to start producing good coffee for many years.

3. I do not mind helping the company with professional counseling.

4. The club gives preference to students who enjoy volunteer work.

5. Do not write your bank account number down in a place where they can find it.

TASK 3: Treat each sentence below as indicated (5 marks)

1. There aren’t many people at the bank, are there?

2. You want to know where Paul works. Ask him. Where do you work, Paul?

3. The government is recruiting accountants. (Rewrite this sentence in the passive voice). Accoun-
tants are being recruited by the government.

4. You won’t earn a salary if you don’t have a job. (Rewrite this sentence beginning as shown) Unless
you have a job, you won’t earn a salary.

5. Bank services are an important tool. They allow us to do financial transactions easily. (Join these
sentences with a suitable linking word). Bank services are an important tool because they
allow us to do financial transactions easily.

SECTION II: VOCABULARY (10 MARKS)

TASK 1: Provide one word with a similar meaning to the underlined words
or phrases in each sentence (5 marks)

1. This dress is less expensive than the one in the box. cheaper

2. What is the price of your shoes? cost

3. Shoppers should always read the labels on the foods that they buy. tags

4. I won’t like to give up my studies for business. abandon

5. People should learn to stand by one another in times of. support
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TASK II: Complete the paragraphs below with the words in the box (5 marks)

Words in the box:

• Eliminate

• pathogens

• clean

• disease

• cholera

Corrected Paragraph: Diseases spread through vectors. Say the vector is contaminated water
as is the case of typhoid, cholera, and amoebiasis (food poisoning). By drinking clean water, we
can completely eliminate diseases caused by pathogens carried by insects and animals. By spraying
stagnant water bodies with kerosene or other chemicals, we can completely eliminate mosquitoes from
our neighborhood. If that is unfeasible, we can all use mosquito nets which prevent us from mosquitoes
while we are asleep. This provides a physical barrier for the mosquito.

SECTION III: MAKING USE OF WRITTEN LANGUAGE (20
MARKS)

TASK 1: READING COMPREHENSION (10 MARKS)

Questions and Answers:

1. What is second-hand smoke? Second-hand smoke is the smoke that is exhaled by a smoker or
that comes from the burning end of a cigarette, which can cause breathing problems for those who
inhale it.

2. List two methods used to smoke tobacco. Two methods used to smoke tobacco are cigarettes
and hookahs (water pipes).

3. Why do the authorities print images showing the effects of smoking? The authorities
print images showing the effects of smoking to discourage people from smoking by illustrating the
negative health consequences, such as rotten teeth and lung damage.

4. Is using a hookah better or worse than smoking cigarettes? Write a sentence explaining
your answer. Using a hookah is worse than smoking cigarettes because it exposes smokers to
more toxic chemicals and higher levels of carbon monoxide, and it also produces more second-hand
smoke.

5. What is the meaning of the word “addicted” as used in the passage? The word ”addicted”
means being physically or mentally dependent on a substance, in this case, tobacco, to the extent
that it is difficult to stop using it.

TASK II: COMPOSITION (10 MARKS)

Topic 1: Parents are responsible for juvenile delinquency in our society. Do you agree?

Sample Essay:
Parents play a significant role in shaping the behavior and values of their children. However, to say

that parents are solely responsible for juvenile delinquency is an oversimplification. While it is true that
poor parenting, lack of supervision, and dysfunctional family environments can contribute to delinquent
behavior, other factors such as peer pressure, socio-economic conditions, and exposure to violence also
play a crucial role.
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In many cases, children from well-structured families still engage in delinquent activities due to
external influences. Therefore, while parents have a responsibility to guide and nurture their children,
society as a whole must also address the root causes of juvenile delinquency, such as poverty, lack of
education, and inadequate social services.

In conclusion, while parents have a significant role in preventing juvenile delinquency, it is a complex
issue that requires a collective effort from the entire society.

Good Luck!!!
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